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Subtraction Review
Why did it take the monster ten months to finish a book? Because he wasn't
very hungry.

Complete each section.

Find the difference in each equation below.

1. 15 – 1 = 2. 11 – 4 = 3. 4 – 1 = 4. 15 – 3 = 5. 8 – 7 =

6. 5 – 2 = 7. 6 – 4 = 8. 7 – 4 = 9. 14 – 3 = 10. 5 – 4 =

11. 790

660–
12. 590

380–
13. 790

540–
14. 950

840–
15. 490

320–

16. 650

530–
17. 500

100–
18. 800

500–
19. 670

370–
20. 560

100–

21. 3

4

1

4
– = 22. 6

8

5

8
– = 23. 4

5

3

5
– = 24. 2

3

1

3
– = 25. 4

6

3

6
– =

26. 3

4

2

4
– = 27. 2

4

1

4
– = 28. 3

5

2

5
– = 29. 5

8

2

8
– = 30. 4

5

2

5
– =

Match each equation in the column on the left with the answer from the column on the right.

31. a. 18 12– =

b. 6 2– =

c. 3 3– =

d. 20 9– =

e. 11 9– =

D = 6

A = 4

E = 0

B = 11

C = 2

32. a. 3 2– =

b. 18 12– =

c. 14 6– =

d. 15 14– =

e. 1 1– = A = 1

D = 6

C = 8

E = 1

B = 0
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Complete the table. Write a rule to represent the relationship between the input and output.

33. Input Output

9 5

4 0

6

8

34. Input Output

5 3

10 8

7

3

35. Input Output

6 4

10 8

5

8

Solve the equations across and down.

36. 42 – 10 – 11 =

– – – –

11 – 2 – 3 =

– – – –

13 – 3 – 3 =

= = = =

– – =

37. 45 – 9 – 12 =

– – – –

19 – 6 – 6 =

– – – –

13 – 1 – 5 =

= = = =

– – =

38. 43 – 12 – 13 =

– – – –

10 – 1 – 5 =

– – – –

23 – 10 – 4 =

= = = =

– – =

39. 50 – 14 – 15 =

– – – –

13 – 2 – 5 =

– – – –

22 – 8 – 7 =

= = = =

– – =

Subtract the numbers surrounding the circle from the number in the center.

40.

10
–

2
10

5

20

9

13
7

18

15

8

41.

10
–

11
16

2

7

14

1
3

18

19

17
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42.

10
–

9
8

10

12

5

15
3

7

4

2

43.

10
–

6
10

2

11

13

14
18

4

17

9

Find the trail from the first circled number to the circled number in the last square by subtracting.

44.
6 4 5 4

2 10 7 6

8 2 1 4

60 8 2 10

4

45.
1 3 5 7

48 3 6 2

10 9 6 6

10 7 4 8

5

46.
5 1 3 7

3 10 6 3

8 4 2 2

38 4 8 7

6

Complete the table by subtracting each number on the side from each number on the top.

47. 15 16 12 13 10

1

9

8 8 2

2

3

48. 12 11 15 18 16

6 5

2

3

8

1 15

49. 15 14 17 13 12

9

3

1 13

2 13

4

50. 12 17 16 15 13

3 14

5

2

4

9 6


